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State and prgvB.th:At circular (i) FoldinqffiFrequency shiftm&ry*r properties of an 'N' point

(06 Marks)

\I/ r w I4yuIE;u! r vr ^\u,/ .,qF#f#
"."1 ./+rt\ ,**

(ii) y(k): . '\ to '/a1p)where x&Tffi l0 point DFT o

\k l'*""',*# "'tu"e,wry" +&fffue-A
3 a. Explain t\e disadvantages of dirffi CtMputation

bnd y(n) 
.i.:.

the l0 point@#S of
i* '" (07 Marks)

2a.

b.

5a.
b.

sequence.

(iii) Find z(n) that has DFT"s(k)e x(t).w(k) whe
w(n)=u(n)-u(n-7)

(i) x1(n) = e-' x(n),,(ii) x2(n) = cos | *n Jffi} (ttt) x3 (n) p" l)4) (03 Marks)

b. Find t16*"output y(n) of a

x(n) 
=#s,1, 

-1, -2, -3, 5,.,J

circulai ionvolution in your

iwhose impulsffiqponse h(n) : {3, 2, 1} and input

,0,2,1). Usinffierlap and save method. Use 8 point

tation of D#frgrd advantage of FFT. (04 Marks)

(10 Marks)

1'';,- 
Module-3!tE="\

Develop 8 point DIT-FFT radix - 2 algorithm and draw the signal flow graph. (0s Marks)

Find the 8 poiht DFT of the sequence x(n) = {1, 1, 1, 1, 0, 0,0, 0} using radix - 2 DIF FFT

algorithm'*tu (08 Marks)

tt*;f I of 2
.Jy

c. $tatdand prove symmeniE fliOperty of t'widffitor wu. (02 Marks)
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o 

,

^,.',, 
''{;--" ,fl-"1; , ^;;"{doi*

4 a. ""'Find the number'fumplex multiplicafrons and additions required to computer 128 point

DFT using @Direct method *ffIff'*fFT (iii) what is ttre speed improvement factor
(iv) Numb-9e,o-fffil registers needed "(v) Number oftrigonometric functions needed.

p (06 Marks)

b. A long r.qu&r. x(n) is filte*f.gflwith a filter with impulse response h(n) to produce output
y(n). If x(n) = {1,4,3,o0ffiffi , -7, -7, -1,3,4,3} and h(n): {1,2}. Compute y(n) using

overlap and add msths$ffid only 5 point circular convolution in your approach. (10 Marks)
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6a.

b.

7a.
b.

c.

1sEC52

(04 Marks)

(08 Marks)

(04 Marks)

radian/sample use rectangular window.
(06 Marks)

{" ; 'i:; oB-*".
8 a. Design a 4i&ifhl)owpass filterusing BLT tadatisff the following chart.

i) Jr4bfrMnic pass and stop ban{ s'

iil {-jfte cut-offof O.sn rad *de 
. #q"

iffiagnitude down atleast@Sat 0.75r rad -, : 
'- (08 Marks)

Y";f- -- '!:''''
b. Find H(z) for the given T{ H{s) I , t 

lru , u =l+-ffimpulse Invarit#t Transformation

(IIT) technique. 

e 
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(08 Marks)
ry6 Y s) ffi. 1*#3

', M"dii&g n"i ==

g a. Obtain direct ferf $, Form - II, C@a6aparallel form'$frealization for the following
system. y(n):ffi y(n- l)- 0.l2$ftaYZ) * 6x(n) + l1(di- 1) + x(n-2). (l2Marks)

,:..r
rT \n .",e"

b. Realizemfrltlit filter given Uvlffit [ * I tutrl -.#ilffit"sing direct form - I. (04 Marks)
",*ry"* 

_M q" \.) l q$

d## .*ry*'.d tu=&"* OR . #'% $,.\ * oR #
t0 a. yri&o e{uations of any qieiftiferent windowfued in design of FIR filters.

u._#wig, the symmetrkFfi,%wpass filter yfrufug desired frequency respons€

#h . . ["-i*'g 
ql&4<*. 'l 

_ 
.,

-* H.l\tr,tl=< i*r. > .{fl

a. yri&o equations of any S$fffferent windo}{ffiffi#ed in design of FIR tllters. (10 Marks)

b._ffimpig, the symmetr'UkFtr$fowpass filter yfruk desired frequency response is given as\{nmetne Fl
-,*" fQ&l lW

fo,cunt':"
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